

Currency Futures & Options Matched Trades

Report for 20/09/2011

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
8:05:42	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.8077	(7,807,700.00)	Client	Sell
8:05:42	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.8077	7,807,700.00	Member	Buy
8:09:05	\$ / R 19/12/2011	Foreign Exchange Future	С	7.80	1	1,000	1,000	1,000,000	366.2300	366,230,000.00	Client	Buy
8:09:05	\$ / R 19/12/2011	Foreign Exchange Future	C	7.80	1	1,000	1,000	1,000,000	366.2300	(366,230,000.00)	Member	Sell
8:16:16	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	270	270,000	7.7307	(2,087,289.00)	Member	Sell
8:16:16	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	270	270,000	7.7307	2,087,289.00	Member	Buy
8:19:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	750	750,000	7.7985	(5,848,875.00)	Client	Sell
8:19:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	750	750,000	7.7985	5,848,875.00	Member	Buy
8:46:35	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	200	200,000	7.8320	(1,566,400.00)	Client	Sell
8:46:35	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	200	200,000	7.8320	1,566,400.00	Member	Buy
9:00:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7962	(7,796.20)	Client	Sell
9:00:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7962	7,796.20	Member	Buy
9:01:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8062	(78,062.00)	Member	Sell
9:01:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8062	78,062.00	Member	Buy
9:02:49	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7288	38,644.00	Client	Buy
9:02:49	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7288	(38,644.00)	Member	Sell
9:02:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.7271	231,813.00	Client	Buy
9:02:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.7271	(231,813.00)	Member	Sell
9:03:08	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7500	387,500.00	Member	Buy
9:03:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7500	387,500.00	Member	Buy
9:03:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.7500	(1,162,500.00)	Client	Sell
9:03:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7500	387,500.00	Member	Buy
9:07:25	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7900	(155,800.00)	Client	Sell
9:07:25	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7900	155,800.00	Member	Buy
9:08:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7817	(77,817.00)	Client	Sell
9:08:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7817	77,817.00	Member	Buy
9:08:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7850	(155,700.00)	Client	Sell
9:08:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7850	155,700.00	Member	Buy
9:09:20	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7861	(38,930.50)	Client	Sell
9:09:20	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7861	38,930.50	Member	Buy
9:09:28	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7884	(38,942.00)	Client	Sell
9:09:28	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7884	38,942.00	Member	Buy

Page 1 of 13 2011/09/20, 06:06:18PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
9:09:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7884	(38,942.00)	Client	Sell
9:09:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7884	38,942.00	Member	Buy
9:09:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.7889	(311,556.00)	Client	Sell
9:09:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.7889	311,556.00	Member	Buy
9:10:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.7927	(116,890.50)	Client	Sell
9:10:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.7927	116,890.50	Member	Buy
9:10:23	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7889	(7,788.90)	Client	Sell
9:10:23	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7889	7,788.90	Member	Buy
9:11:21	\$ / R 19/12/2011	Foreign Exchange Future	Р	7.25	1	1,000	300	300,000	92.1200	27,636,000.00	Client	Buy
9:11:21	\$ / R 19/12/2011	Foreign Exchange Future	Р	7.25	1	1,000	400	400,000	92.1200	(36,848,000.00)	Member	Sell
9:11:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.7867	(116,800.50)	Client	Sell
9:11:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.7867	116,800.50	Member	Buy
9:14:35	\$ / R 19/12/2011	Foreign Exchange Future	Р	7.25	1	1,000	100	100,000	92.1200	9,212,000.00	Client	Buy
9:15:43	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	21	21,000	7.8100	164,010.00	Client	Buy
9:23:12	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7765	(388,825.00)	Client	Sell
9:23:12	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7765	388,825.00	Member	Buy
9:23:25	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	45	45,000	7.7765	(349,942.50)	Client	Sell
9:23:25	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	45	45,000	7.7765	349,942.50	Member	Buy
9:24:04	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7765	(77,765.00)	Client	Sell
9:24:04	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7765	77,765.00	Member	Buy
9:24:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7765	(77,765.00)	Client	Sell
9:24:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7765	77,765.00	Member	Buy
9:24:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7765	(77,765.00)	Client	Sell
9:24:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7765	77,765.00	Member	Buy
9:24:39	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7770	(77,770.00)	Client	Sell
9:24:39	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7770	77,770.00	Member	Buy
9:24:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7765	(77,765.00)	Client	Sell
9:24:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7765	77,765.00	Member	Buy
9:24:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7765	(77,765.00)	Client	Sell
9:24:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7765	77,765.00	Member	Buy
9:25:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7760	77,760.00	Client	Buy
9:25:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7760	(77,760.00)	Client	Sell
9:25:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7765	(388,825.00)	Client	Sell
9:25:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7765	388,825.00	Member	Buy
9:27:39	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.7685	(310,740.00)	Client	Sell
9:27:39	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.7685	310,740.00	Member	Buy
9:27:50	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.7765	(311,060.00)	Client	Sell
9:27:50	\$ / R 19/12/2011	•		0.00	1	1,000			7.7765	* '	Member	
9:27:50	\$ / R 19/12/2011	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	40 10	40,000 10,000	7.7760	311,060.00 77,760.00	Member	Buy Buy
9:27:51	\$ / R 19/12/2011			0.00	1	1,000	10	15,000	7.7770	(116,655.00)		
		Foreign Exchange Future Foreign Exchange Future			1		15 15	15,000	7.7770	116,655.00		Sell
9:27:51	\$ / R 19/12/2011 \$ / B 10/12/2011	· ·		0.00		1,000	15			,	Member	Buy
9:28:14	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7777 7.7777	(54,443.90)		Sell
9:28:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7777	54,443.90	Member	Buy
9:32:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7554	(77,554.00)		Sell
9:32:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50 50	50,000	7.7554	(387,770.00)	Client	Sell
9:32:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7554	387,770.00	Member	Buy

Page 2 of 13 2011/09/20, 06:06:18PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
9:32:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7554	77,554.00	Member	Buy
9:32:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7791	(388,955.00)	Member	Sell
9:32:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	7.7801	2,334,030.00	Member	Buy
9:32:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7791	388,955.00	Member	Buy
9:32:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	7.7801	(2,334,030.00)	Member	Sell
9:35:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7684	(7,768.40)	Client	Sell
9:35:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7684	7,768.40	Member	Buy
9:36:04	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7698	(77,698.00)	Client	Sell
9:36:04	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7698	77,698.00	Member	Buy
9:36:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7703	(77,703.00)	Client	Sell
9:36:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7703	77,703.00	Member	Buy
9:36:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7663	(7,766.30)	Client	Sell
9:36:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7663	7,766.30	Member	Buy
9:37:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7670	(776,700.00)	Client	Sell
9:37:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7670	776,700.00	Member	Buy
9:39:12	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	275	275,000	7.7700	(2,136,750.00)	Client	Sell
9:39:12	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7700	(38,850.00)	Client	Sell
9:39:12	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	275	275,000	7.7700	2,136,750.00	Member	Buy
9:39:12	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7700	38,850.00	Member	Buy
9:39:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	225	225,000	7.7700	(1,748,250.00)	Client	Sell
9:39:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	225	225,000	7.7700	1,748,250.00	Member	Buy
9:40:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	75	75,000	7.7657	(582,427.50)	Client	Sell
9:40:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	75	75,000	7.7657	582,427.50	Member	Buy
9:40:43	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	7.7657			Sell
9:40:43	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	7.7657	2,329,710.00	Member	Buy
9:40:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.7657	(194,142.50)	Client	Sell
9:40:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.7657	194,142.50	Member	Buy
9:40:58	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	75	75,000	7.7657	(582,427.50)	Client	Sell
9:40:58	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	75 75	75,000	7.7657	582,427.50	Member	Buy
9:42:44	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.7657	(194,142.50)	Client	Sell
9:42:44	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.7657	194,142.50	Member	Buy
9:43:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7710	777,100.00	Client	Buy
9:43:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7710	(777,100.00)	Member	Sell
9:48:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7710	(38,764.00)	Client	Sell
9:48:29	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7528	38,764.00	Member	Buy
9:48:52	\$ / R 19/12/2011 \$ / R 19/12/2011			0.00	1	1,000	45	45,000	7.7526	(348,826.50)	Client	-
9:48:52	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	45 45	45,000	7.7517	348,826.50		Sell Buy
		Foreign Exchange Future			1						Member	,
9:51:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00		1,000	2	2,000	7.7500	15,500.00	Client	Buy
9:51:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.7500	23,250.00	Client	Buy
9:51:31	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.7500	(23,250.00)		Sell
9:51:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.7500	(23,250.00)	Member	Sell
9:52:15	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8110	(78,110.00)		Sell
9:52:15	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8110	78,110.00	Member	Buy
9:53:37	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7485	77,485.00	Client	Buy
9:53:58	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	200	200,000	7.7475	1,549,500.00	Client	Buy
9:53:58	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	200	200,000	7.7475	(1,549,500.00)	iviember	Sell

Page 3 of 13 2011/09/20, 06:06:18PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
9:54:02	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.7450	15,490.00	Client	Buy
9:54:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7415	77,415.00	Client	Buy
9:54:44	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	33	33,000	7.7400	255,420.00	Client	Buy
9:54:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7398	(386,990.00)	Client	Sell
9:54:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7370	54,159.00	Member	Buy
9:55:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	13	13,000	7.7370	(100,581.00)	Client	Sell
9:55:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	13	13,000	7.7370	100,581.00	Member	Buy
9:56:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9374	(793,740.00)	Member	Sell
9:56:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9374	793,740.00	Member	Buy
9:57:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	7.9323	3,172,920.00	Member	Buy
9:57:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	7.9323	(3,172,920.00)	Member	Sell
9:57:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7400	154,800.00	Client	Buy
9:58:23	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7368	(386,840.00)	Client	Sell
9:58:23	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	18	18,000	7.7262	139,071.60	Member	Buy
9:59:33	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7500	7,750.00	Client	Buy
10:02:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.7112	(46,267.20)	Client	Sell
10:02:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.7112	46,267.20	Member	Buy
10:06:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7381	77,381.00	Client	Buy
10:06:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7381	(77,381.00)	Member	Sell
10:06:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.8678	(314,712.00)	Client	Sell
10:06:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.8678	314,712.00	Member	Buy
10:09:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7411	(77,411.00)	Client	Sell
10:09:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7411	77,411.00	Member	Buy
10:09:18	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.8200	(312,800.00)	Client	Sell
10:09:18	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	7.8200	312,800.00	Member	Buy
10:10:32	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	499	499,000	7.7465	3,865,503.50	Member	Buy
10:10:32	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	499	499,000	7.7465	(3,865,503.50)	Member	Sell
10:10:32	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7462	1,936,550.00	Member	Buy
10:10:32	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7462	(1,936,550.00)	Member	Sell
10:10:02	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7455	(1,936,375.00)	Member	Sell
10:13:03	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7450	(387,250.00)	Member	Sell
10:16:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7585	(1,939,625.00)	Member	Sell
10:17:01	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	600	600,000	7.7520	4,651,200.00	Client	Buy
10:17:01	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7585	(387,925.00)	Member	Sell
10:17:01	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7423	(77,423.00)	Client	Sell
10:20:28	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7423	77,423.00	Member	Buy
10:26:48	\$ / R 19/12/2011	Foreign Exchange Future	Р	7.25	1	1,000	100	100,000	101.9700	10,197,000.00	Client	Buy
10:26:48	\$ / R 19/12/2011	Foreign Exchange Future	P	7.25	1	1,000	100	100,000	101.9700	(10,197,000.00)	Member	Sell
10:20:48	\$ / R 19/03/2012	Foreign Exchange Future	C	7.25	1	1,000	4,100	4,100,000	822.0000	(3,370,200,000.00)	Client	Sell
10:29:28	\$ / R 19/03/2012		С	7.15		1,000	4,100	4,100,000	822.0000	3,370,200,000.00)		
		Foreign Exchange Future	C	0.00	1 1				7.7520		Member	Buy
10:35:50	\$ / R 19/12/2011	Foreign Exchange Future				1,000	250	250,000		1,938,000.00	Member	Buy
10:39:42	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7450	(1,936,250.00)	Client	Sell
10:39:42	\$ / R 19/12/2011 \$ / B 10/13/2011	Foreign Exchange Future		0.00	1	1,000	50 15	50,000	7.7170	385,850.00	Member	Buy
10:41:02	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future		0.00	1	1,000	15 15	15,000	7.7495	116,242.50	Member	Buy
10:42:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15 15	15,000	7.7840	(116,760.00)	Client	Sell
10:42:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.7840	116,760.00	Member	Buy

Page 4 of 13 2011/09/20, 06:06:18PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
10:45:18	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7500	7,750.00	Client	Buy
10:45:18	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7500	(7,750.00)	Client	Sell
10:45:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	14	14,000	7.7500	(108,500.00)	Client	Sell
10:45:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	47	47,000	7.7500	(364,250.00)	Client	Sell
10:45:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	47	47,000	7.7500	364,250.00	Member	Buy
10:45:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	14	14,000	7.7500	108,500.00	Member	Buy
10:50:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	26	26,000	7.7594	(201,744.40)	Client	Sell
10:50:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6,440	6,440,000	7.7594	49,970,536.00	Member	Buy
10:53:27	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7590	38,795.00	Client	Buy
10:53:27	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7590	(38,795.00)	Member	Sell
10:54:53	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	12	12,000	7.7585	(93,102.00)	Client	Sell
10:54:53	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	12	12,000	7.7585	93,102.00	Member	Buy
10:54:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	65	65,000	7.7585	(504,302.50)	Client	Sell
10:54:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	65	65,000	7.7585	504,302.50	Member	Buy
11:12:35	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7585	(77,585.00)	Client	Sell
11:12:35	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7585	77,585.00	Member	Buy
11:17:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7512	(775,120.00)	Client	Sell
11:17:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7512	775,120.00	Member	Buy
11:18:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7550	(7,755.00)	Client	Sell
11:18:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7550	7,755.00	Member	Buy
11:26:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7593	77,593.00	Client	Buy
11:26:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7593	(77,593.00)	Member	Sell
11:33:10	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.8375	195,937.50	Client	Buy
11:33:10	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.8375	(195,937.50)	Member	Sell
11:33:10	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.7500	31,000.00	Client	Buy
11:33:10	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.7500	(31,000.00)	Member	Sell
11:34:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7410	77,410.00	Client	Buy
11:34:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7410	(77,410.00)	Member	Sell
11:34:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7400	154,800.00	Client	Buy
11:34:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7400	(154,800.00)	Member	Sell
11:41:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7280	1,932,000.00	Client	Buy
11:41:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7280	(1,932,000.00)	Member	Sell
11:41:01	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7280	1,932,000.00	Client	Buy
11:41:01	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.7280	(1,932,000.00)	Member	Sell
11:41:03	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7280	772,800.00	Client	Buy
11:41:03	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7280	(772,800.00)	Member	Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	29	29,000	7.7210	223,909.00	Member	Buy
12:03:00	\$ / R 19/12/2011	•		0.00	1	1,000	300	300,000	7.7210			Sell
12:03:00	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	300	300,000	7.7098	(2,312,940.00) 2,312,940.00	Member	Buy
12:06:03	\$ / R 19/12/2011	Foreign Exchange Future		0.00		1,000	400	400,000	7.7150	(3,086,000.00)		
12:06:03	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future			1 1			500,000			Client	Sell Sell
	\$ / R 19/12/2011 \$ / R 19/12/2011	· ·		0.00		1,000	500		7.7158	(3,857,900.00)		
12:06:03 12:06:03	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00 0.00	1	1,000 1,000	100 400	100,000 400,000	7.7159 7.7150	(771,590.00) 3,086,000.00		Sell
		Foreign Exchange Future			1					3,857,900.00	Member	Buy
12:06:03	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future		0.00	1	1,000	500 100	500,000	7.7158		Member	Buy
12:06:03	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future		0.00	1	1,000	100 7.500	100,000	7.7159 7.7160	771,590.00 (57,870,000.00)	Member	Buy
12:08:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7,500	7,500,000	7.7160	(00.000,000.00)	Client	Sell

Page 5 of 13 2011/09/20, 06:06:18PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
12:08:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7,500	7,500,000	7.7160	57,870,000.00	Member	Buy
12:09:52	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	550	550,000	7.7247	(4,248,585.00)	Client	Sell
12:09:52	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.7250	30,900.00	Client	Buy
12:09:52	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	446	446,000	7.7247	3,445,216.20	Member	Buy
12:09:52	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7249	772,490.00	Member	Buy
12:11:27	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7328	54,129.60	Client	Buy
12:11:27	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7328	(54,129.60)	Member	Sell
12:11:37	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	14	14,000	7.7285	108,199.00	Member	Buy
12:12:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	14	14,000	7.7840	(108,976.00)	Client	Sell
12:12:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	14	14,000	7.7840	108,976.00	Member	Buy
12:31:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7375	38,687.50	Client	Buy
12:31:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7375	(38,687.50)	Member	Sell
12:38:25	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	749	749,000	7.7450	(5,801,005.00)	Client	Sell
12:38:25	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	749	749,000	7.7450	5,801,005.00	Member	Buy
12:39:09	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7433	(77,433.00)	Client	Sell
12:39:09	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7433	77,433.00	Member	Buy
12:39:26	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	251	251,000	7.7450	(1,943,995.00)	Client	Sell
12:39:26	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	251	251,000	7.7450	1,943,995.00	Member	Buy
12:53:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	3,040	3,040,000	7.7625	23,598,000.00	Client	Buy
12:53:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	3,040	3,040,000	7.7625	(23,598,000.00)	Member	Sell
13:26:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.9345	(39,672.50)	Client	Sell
13:26:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.9345	39,672.50	Member	Buy
13:50:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7680	(776,800.00)	Member	Sell
13:51:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7680	776,800.00	Client	Buy
13:51:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7680	(776,800.00)	Member	Sell
14:03:20	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7580	155,160.00	Client	Buy
14:03:20	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7580	(155,160.00)	Member	Sell
14:11:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7350	38,675.00	Client	Buy
14:11:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7350	(38,675.00)	Member	Sell
14:12:58	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	744	744,000	7.7345	5,754,468.00	Member	Buy
14:12:58	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	744	744,000	7.7345	(5,754,468.00)	Member	Sell
14:33:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	135	135,000	7.7604	(1,047,654.00)	Client	Sell
14:33:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	135	135,000	7.7604	1,047,654.00	Member	Buy
14:36:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7772	(7,777.20)	Client	Sell
14:36:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7772	7,777.20	Member	Buy
14:37:37	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	200	200,000	7.7748	1,554,960.00	Member	Buy
14:39:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	200	200,000	7.7764	(1,555,280.00)	Client	Sell
14:39:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	200	200,000	7.7764	1,555,280.00	Member	Buy
14:43:53	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	8,385	8,385,000	7.7764	64,995,489.00	Member	Buy
14:51:27	\$ / R 19/12/2011	Foreign Exchange Future		0.00		1,000	200	200,000	7.7714			
		•			1 1					(1,554,200.00)	Member	Sell
14:51:27	\$ / R 19/12/2011 \$ / P 19/12/2011	Foreign Exchange Future		0.00		1,000	200	200,000	7.7710 7.7665	1,554,200.00	Member	Buy
14:54:00	\$ / R 19/12/2011 \$ / P 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.7665 7.7665	(7,766,500.00)		Sell
14:54:00	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.7665	7,766,500.00	Member	Buy
14:54:39	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7689	(77,689.00)		Sell
14:54:39	\$ / R 19/12/2011 \$ / B 10/12/2011	•		0.00	1	1,000	10 15	10,000	7.7689	77,689.00	Member	Buy
15:03:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.7950	(116,925.00)	Client	Sell

Page 6 of 13 2011/09/20, 06:06:18PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
15:03:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7950	(54,565.00)	Client	Sell
15:03:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.7950	116,925.00	Member	Buy
15:03:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7950	54,565.00	Member	Buy
15:03:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8000	(39,000.00)	Client	Sell
15:03:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.8000	(390,000.00)	Client	Sell
15:03:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	445	445,000	7.8000	(3,471,000.00)	Client	Sell
15:03:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	445	445,000	7.8000	3,471,000.00	Member	Buy
15:03:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8000	39,000.00	Member	Buy
15:03:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.8000	390,000.00	Member	Buy
15:04:09	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	255	255,000	7.8000	(1,989,000.00)	Client	Sell
15:04:09	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	255	255,000	7.8000	1,989,000.00	Member	Buy
15:06:52	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8045	156,090.00	Member	Buy
15:06:53	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8045	(156,090.00)	Client	Sell
15:16:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7925	(155,850.00)	Client	Sell
15:16:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.7925	155,850.00	Member	Buy
15:18:09	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7940	77,940.00	Member	Buy
15:18:37	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8850	(78,850.00)	Client	Sell
15:18:37	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8850	78,850.00	Member	Buy
15:21:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7989	(54,592.30)	Client	Sell
15:21:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.7989	54,592.30	Client	Buy
15:23:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.7955	3,897,750.00	Member	Buy
15:25:03	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.7885	(3,894,250.00)	Client	Sell
15:25:03	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7255	386,275.00	Member	Buy
15:30:38	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.7950	389,750.00	Client	Buy
15:30:38	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.7766	(777,660.00)	Client	Sell
15:31:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.7989	(23,396.70)	Client	Sell
15:31:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.7989	23,396.70	Member	Buy
15:40:47	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	7.8000	(2,340,000.00)	Member	Sell
15:41:15	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	7.8950	(63,160.00)	Client	Sell
15:41:15	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	7.8950	63,160.00	Client	Buy
15:41:42	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	600	600,000	7.7964	(4,677,840.00)	Client	Sell
15:41:42	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	600	600,000	7.7964	4,677,840.00	Member	Buy
15:44:01	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	200	200,000	7.8000	(1,560,000.00)	Member	Sell
15:46:59	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8950	(15,790.00)	Client	Sell
15:46:59	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8950	15,790.00	Member	Buy
15:48:23	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.7933	(233,799.00)	Client	Sell
15:48:23	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.7933	78,100.00	Member	Buy
15:56:17		Foreign Exchange Future		0.00	1	1,000		94,000	7.8164	734,741.60	Client	Buy
15:56:17	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	94 94	94,000	7.8164	(734,741.60)	Member	Sell
15:56:48	\$ / R 19/12/2011			0.00		1,000	500	500,000	7.8165	(3,908,250.00)		
		Foreign Exchange Future Foreign Exchange Future			1 1			500,000		3,908,250.00		Sell
15:56:48	\$ / R 19/12/2011	•		0.00		1,000	500		7.8165		Member	Buy
15:57:48	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	7.8204	(2,346,120.00)		Sell
15:57:48	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	7.8204	2,346,120.00	Member	Buy
15:58:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	112	112,000	7.8215	(876,008.00)	Member	Sell
15:58:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	112	112,000	7.8215	876,008.00	Member	Buy
16:01:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	21	21,000	7.8075	(163,957.50)	Client	Sell

Page 7 of 13 2011/09/20, 06:06:18PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
16:01:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25,616	25,616,000	7.8075	199,996,920.00	Member	Buy
16:02:49	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8170	(39,085.00)	Client	Sell
16:02:49	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8170	39,085.00	Member	Buy
16:03:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	450	450,000	7.8100	(3,514,500.00)	Member	Sell
16:08:50	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.8210	(54,747.00)	Client	Sell
16:08:50	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	7.8210	54,747.00	Member	Buy
16:08:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8250	(156,500.00)	Client	Sell
16:08:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	7.8250	156,500.00	Member	Buy
16:11:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8297	15,659.40	Client	Buy
16:11:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8297	(15,659.40)	Member	Sell
16:13:05	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	7.9200	475,200.00	Client	Buy
16:13:05	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	7.9200	(475,200.00)		Sell
16:13:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	28	28,000	7.7880	(218,064.00)	Client	Sell
16:13:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	8,306	8,306,000	7.8250	64,994,450.00	Member	Buy
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8134	(78,134.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.8134	78,134.00	Member	Buy
16:23:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8052	(15,610.40)	Client	Sell
16:23:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.8052	15,610.40	Member	Buy
16:25:43	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8022	(39,011.00)	Client	Sell
16:25:43	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.8022	39,011.00	Member	Buy
16:25:50	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9031	7,903.10	Client	Buy
16:25:50	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9031	(7,903.10)		Sell
16:40:52	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	39	39,000	7.7594	(302,616.60)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	799	799,000	7.7594	(6,199,760.60)		Sell
16:40:52	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	374	374,000	7.7594	(2,902,015.60)		Sell
16:40:52	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	103	103,000	7.7594	(799,218.20)	Client	Sell
16:40:52	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	219	219,000	7.7594	(1,699,308.60)	Client	Sell
16:40:52	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	116	116,000	7.7594	(900,090.40)		Sell
16:40:52	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	129	129,000	7.7594		Client	Sell
16:40:52	\$ / R 19/12/2011 \$ / R 19/12/2011	· ·		0.00	1	1,000	90	90,000	7.7594	(1,000,962.60)		Sell
	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	3,695	3,695,000	7.7594	(698,346.00) (28,670,983.00)		Sell
	·	Foreign Exchange Future Foreign Exchange Future			1							
16:40:52 16:40:52	\$ / R 19/12/2011 \$ / R 19/12/2011			0.00	1	1,000	399	399,000	7.7594	(3,096,000.60)	Client	Sell
	·	Foreign Exchange Future		0.00	·-	1,000	283	283,000	7.7594	(2,195,910.20)	Client	Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	129	129,000	7.7594	(1,000,962.60)		Sell
16:40:53	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	39	39,000	7.7594	(302,616.60)	Client	Sell
16:40:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	950	950,000	7.8200	7,429,000.00	Client	Buy
16:40:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	950	950,000	7.8200	(7,429,000.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7800	(38,900.00)		Sell
16:41:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.7800	38,900.00	Client	Buy
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	311	311,000	7.8075	(2,428,132.50)		Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,088	1,088,000	7.8075	(8,494,560.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	787	787,000	7.8075	(6,144,502.50)		Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	269	269,000	7.8075	(2,100,217.50)		Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,968	1,968,000	7.8075	(15,365,160.00)		Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	280	280,000	7.8075	(2,186,100.00)		Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7,986	7,986,000	7.8075	(62,350,695.00)	Client	Sell

Page 8 of 13 2011/09/20, 06:06:18PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	829	829,000	7.8075	(6,472,417.50)	Client	Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	352	352,000	7.8075	(2,748,240.00)	Client	Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	280	280,000	7.8075	(2,186,100.00)	Client	Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	8,317	8,317,000	7.8075	(64,934,977.50)	Client	Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	466	466,000	7.8075	(3,638,295.00)	Client	Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	228	228,000	7.8075	(1,780,110.00)	Client	Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	549	549,000	7.8075	(4,286,317.50)	Client	Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	880	880,000	7.8075	(6,870,600.00)	Client	Sell
16:42:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	259	259,000	7.8075	(2,022,142.50)	Client	Sell
16:42:32	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	52	52,000	7.8075	(405,990.00)	Client	Sell
16:42:32	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	176	176,000	7.8075	(1,374,120.00)	Client	Sell
16:42:32	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	124	124,000	7.8075	(968,130.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	218	218,000	7.8075	(1,702,035.00)		Sell
16:42:32	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	176	176,000	7.8075	(1,374,120.00)		Sell
16:47:19	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.7700	(46,620.00)	Client	Sell
16:47:19	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.7700	46,620.00	Member	Buy
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.7785	(3,889,250.00)		Sell
16:50:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7662	7,766.20	Client	Buy
16:50:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.7662	(7,766.20)		Sell
16:51:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.7815	3,890,750.00	Client	Buy
16:51:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.8085	(390,425.00)		Sell
16:54:47	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8338	(783,380.00)		Sell
16:54:47	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8338	783,380.00	Member	Buy
16:55:27	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	7.8338	(470,028.00)	Client	Sell
16:55:27	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	7.8338	470,028.00	Member	Buy
16:57:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.7758	15,551.60	Client	Buy
16:57:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.7758	(15,551.60)	Member	Sell
17:00:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,600	1,600,000	7.7880	(12,460,800.00)		Sell
17:00:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	234	234,000	7.7880	(1,822,392.00)		Sell
17:00:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	607	607,000	7.7880	(4,727,316.00)		Sell
17:00:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	302	302,000	7.7880	(2,351,976.00)		Sell
17:00:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	228	228,000	7.7880	(1,775,664.00)		Sell
17:00:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	632	632,000	7.7880	(4,922,016.00)	Client	Sell
17:00:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	509	509,000	7.7880	(3,964,092.00)	Client	Sell
17:00:54	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	244	244,000	7.7880	(1,900,272.00)		Sell
17:00:54	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4,107	4,107,000	7.7880	(31,985,316.00)	Client	Sell
17:00:54	·	· ·		0.00	1	1,000	4,107 643		7.7880			Sell
	\$ / R 19/12/2011	Foreign Exchange Future			•	,		643,000		(5,007,684.00)		
17:00:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	741	741,000	7.7880	(5,770,908.00)		Sell
17:00:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	287	287,000	7.7880	(2,235,156.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4,430	4,430,000	7.7880			Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	510	510,000	7.7880	(3,971,880.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	164	164,000	7.7880	(1,277,232.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	219	219,000	7.7880	(1,705,572.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	152	152,000	7.7880	(1,183,776.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	211	211,000	7.7880	(1,643,268.00)		Sell
17:00:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	87	87,000	7.7880	(677,556.00)	Client	Sell

Page 9 of 13 2011/09/20, 06:06:18PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
17:00:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	147	147,000	7.7880	(1,144,836.00)	Client	Sell
17:00:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	184	184,000	7.7880	(1,432,992.00)	Client	Sell
17:00:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	151	151,000	7.7880	(1,175,988.00)	Client	Sell
17:00:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	138	138,000	7.7880	(1,074,744.00)	Client	Sell
17:00:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	136	136,000	7.7880	(1,059,168.00)	Client	Sell
17:11:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.7505	(7,750,500.00)	Member	Sell
17:15:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.7575	7,757,500.00	Client	Buy
17:15:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.8205	(782,050.00)	Member	Sell
17:21:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.6878	1,921,950.00	Client	Buy
17:21:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.6878	(1,921,950.00)	Member	Sell
Total Fut	ures				201		79,466	79,465,500		618,295,080.65		
Total Opt	ions				5		5,600	5,600,000		3,783,475,000.00		
Total for	\$ / R Foreign Exchange F	Future			205		85,066	85,065,500		4,401,770,080.65		
8:18:01	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	126	126,000	12.1906	(1,536,015.60)	Client	Sell
8:18:01	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	70	70,000	12.1906	(853,342.00)	Client	Sell
8:18:01	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	126	126,000	12.1906	1,536,015.60	Member	Buy
8:18:01	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	70	70,000	12.1906	853,342.00	Member	Buy
8:33:20	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	12.2422	85,695.40	Client	Buy
8:33:20	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	69	69,000	12.2422	844,711.80	Client	Buy
8:33:20	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	113	113,000	12.2422	1,383,368.60	Client	Buy
8:33:20	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	113	113,000	12.2422	(1,383,368.60)	Member	Sell
8:33:20	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	69	69,000	12.2422	(844,711.80)	Member	Sell
8:33:20	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	12.2422	(85,695.40)	Member	Sell
9:19:03	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.2200	(61,100.00)	Client	Sell
9:19:03	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.2200	61,100.00	Member	Buy
10:23:28	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.1610	(608,050.00)	Client	Sell
10:23:28	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.1610	608,050.00	Member	Buy
10:37:18	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.1785	121,785.00	Client	Buy
10:37:18	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.1785	(121,785.00)	Member	Sell
11:10:46	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	12.2695	(24,539.00)	Client	Sell
11:10:46	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	12.2695	24,539.00	Member	Buy
11:50:58	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.3640	(61,820.00)	Client	Sell
11:50:58	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.3640	61,820.00	Member	Buy
12:24:00	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5,090	5,090,000	12.1278	(61,730,502.00)	Client	Sell
12:24:00	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5,090	5,090,000	12.1278	61,730,502.00	Member	Buy
13:01:41	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	12.1680	(12,168.00)	Client	Sell
13:01:41	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	12.1680	12,168.00	Member	Buy
13:48:19	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.1855	609,275.00	Client	Buy
	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.1855	(609,275.00)		Sell
	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.2410	(61,205.00)		Sell
	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.2410	61,205.00	Member	Buy
16:05:34	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.2510	(1,225,100.00)		Sell
16:05:34	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.2510	1,225,100.00	Member	Buy

Page 10 of 13 2011/09/20, 06:06:18PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
16:38:43	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	120	120,000	12.2100	(1,465,200.00)	Client	Sell
16:38:43	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	120	120,000	12.2100	(1,465,200.00)	Client	Sell
16:38:43	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	120	120,000	12.2100	1,465,200.00	Member	Buy
16:38:43	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	120	120,000	12.2100	1,465,200.00	Member	Buy
16:48:18	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.1840	(121,840.00)	Client	Sell
16:48:18	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.1840	121,840.00	Member	Buy
Total Futu	res				18		5,953	5,953,000		72,270,917.40		
Total Option	ons											
Total for £	/ R Foreign Exchange F	uture			18		5,953	5,953,000		72,270,917.40		
12:48:48	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	12	1,200,000	0.1005	(120,660.00)	Client	Sell
12:48:48	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	12	1,200,000	0.1005	120,660.00	Member	Buy
12:53:14	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	4	400,000	0.1005	(40,208.00)	Client	Sell
12:53:14	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	4	400,000	0.1005	40,208.00	Member	Buy
12:59:22	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	2	200,000	0.1007	(20,142.00)	Client	Sell
12:59:22	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	2	200,000	0.1007	20,142.00	Member	Buy
13:15:41	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	0.1006	(100,650.00)	Client	Sell
13:15:41	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	0.1006	100,650.00	Member	Buy
13:32:28	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	0.1010	(101,000.00)	Client	Sell
13:32:28	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	0.1010	101,000.00	Member	Buy
13:34:05	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	100	10,000,000	0.1010	(1,010,000.00)	Client	Sell
13:34:05	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	100	10,000,000	0.1010	1,010,000.00	Member	Buy
13:34:23	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	0.1010	(101,000.00)	Client	Sell
13:34:23	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	0.1010	101,000.00	Member	Buy
13:53:34	¥ / R 19/03/2012	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	0.1017	(101,660.00)	Client	Sell
13:53:34	¥ / R 19/03/2012	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	0.1017	101,660.00	Member	Buy
14:08:12	¥ / R 19/03/2012	Foreign Exchange Future		0.00	1	100,000	6	600,000	0.1014	(60,852.00)	Client	Sell
14:08:12	¥ / R 19/03/2012	Foreign Exchange Future		0.00	1	100,000	6	600,000	0.1014	60,852.00	Member	Buy
14:28:12	¥ / R 19/03/2012	Foreign Exchange Future		0.00	1	100,000	6	600,000	0.1018	(61,092.00)	Client	Sell
14:28:12	¥ / R 19/03/2012	Foreign Exchange Future		0.00	1	100,000	6	600,000	0.1018	61,092.00	Member	Buy
14:33:52	¥ / R 19/03/2012	Foreign Exchange Future		0.00	1	100,000	20	2,000,000	0.1019	(203,720.00)	Client	Sell
14:33:52	¥ / R 19/03/2012	Foreign Exchange Future		0.00	1	100,000	20	2,000,000	0.1019	203,720.00	Member	Buy
Total Futu	res				11		190	19,000,000		1,920,984.00		
Total Option	ons											
Total for ¥	/ R Foreign Exchange F	uture			11		190	19,000,000		1,920,984.00		
9:22:02	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.6500	(10,650.00)	Member	Sell
9:29:19	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6432	(21,286.40)	Member	Sell
9:38:44	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.6280	(10,628.00)	Member	Sell
9:38:44	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6295	(21,259.00)	Member	Sell
9:38:44	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6300	(21,260.00)	Member	Sell
9:51:29	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6100	(21,220.00)	Member	Sell
		-								•		

Page 11 of 13 2011/09/20, 06:06:18PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
9:56:07	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.5920	(21,184.00)	Member	Sell
9:57:37	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	234	234,000	10.6845	2,500,173.00	Member	Buy
10:03:37	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	84	84,000	10.6745	(896,658.00)	Client	Sell
10:03:37	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	84	84,000	10.6745	896,658.00	Member	Buy
10:03:52	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	10.6745	(1,601,175.00)	Client	Sell
10:03:52	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	10.6745	1,601,175.00	Member	Buy
10:29:09	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.6025	(53,012.50)	Client	Sell
10:29:09	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.6025	53,012.50	Member	Buy
11:06:10	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.5890	(1,058,900.00)	Client	Sell
11:06:10	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.5890	1,058,900.00	Member	Buy
11:59:00	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2,246	2,246,000	10.5687	(23,737,300.20)	Client	Sell
11:59:00	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2,246	2,246,000	10.5687	23,737,300.20	Member	Buy
12:39:26	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	10.6000	(42,400.00)	Client	Sell
12:39:26	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	10.6000	42,400.00	Member	Buy
12:40:28	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.5970	(105,970.00)	Client	Sell
12:40:28	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.5970	105,970.00	Member	Buy
13:33:48	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6250	(21,250.00)	Client	Sell
13:33:48	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6250	21,250.00	Member	Buy
13:48:01	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6215	21,243.00	Member	Buy
13:49:28	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6300	21,260.00	Member	Buy
14:36:43	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6465	(21,293.00)	Client	Sell
14:36:43	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6465	21,293.00	Member	Buy
14:37:59	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6470	21,294.00	Member	Buy
14:40:38	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6500	21,300.00	Member	Buy
14:40:38	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	499	499,000	10.6440	5,311,356.00	Member	Buy
14:40:38	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	499	499,000	10.6440	(5,311,356.00)	Member	Sell
14:40:40	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	499	499,000	10.6530	5,315,847.00	Member	Buy
14:40:40	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	499	499,000	10.6530	(5,315,847.00)	Member	Sell
15:43:54	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6500	21,300.00	Member	Buy
15:45:18	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	12	12,000	10.6413	(127,695.60)		Sell
15:45:18	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6500	21,300.00	Member	Buy
15:55:56	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	8	8,000	10.6860	(85,488.00)	Client	Sell
15:55:56	€ / R 19/12/2011	Foreign Exchange Future		0.00	1 1	1,000	8 516	8,000	10.6860	85,488.00	Member	Buy
16:12:36 16:27:48	€ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	516 70	516,000	10.6800	5,510,880.00 (746,900.00)	Member	Buy
16:27:48	€ / R 19/12/2011 € / R 19/12/2011	Foreign Exchange Future		0.00 0.00	1	1,000	70 66	70,000	10.6700 10.6700	, ,	Client	Sell
		Foreign Exchange Future		0.00	1	1,000	96	66,000 96,000		(704,220.00)		Sell Sell
16:27:48 16:27:48	€ / R 19/12/2011 € / R 19/12/2011	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000		150,000	10.6700 10.6700	(1,024,320.00) (1,600,500.00)		Sell
16:27:48	€ / R 19/12/2011 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000 1,000	150 134	134,000	10.6700	(1,429,780.00)		Sell
	€ / R 19/12/2011 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	96	96,000	10.6700	1,024,320.00	Member	Buy
16:27:48	€ / R 19/12/2011 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	96 70	70,000	10.6700	746,900.00	Member	Buy
16:27:48	€ / R 19/12/2011 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	10.6700	1,600,500.00	Member	Buy
16:27:48	€ / R 19/12/2011 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	66	66,000	10.6700	704,220.00	Member	Buy
	€ / R 19/12/2011 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	134	134,000	10.6700	1,429,780.00	Member	Buy
10.27.40	CITY TOTILIZED IT	i oreign Exchange i uture		0.00	ı	1,000	104	134,000	10.0700	1,723,100.00	MEHIDEI	Duy

Page 12 of 13 2011/09/20, 06:06:18PM

Matched Time	Contract Details	Product	Call/Put Str	ike No Trad	, ,	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
Total Futures				:	6	4,524	4,524,000		48,017,079.60		
Total Opti	ons										
Total for € / R Foreign Exchange Future					6	4,524	4,524,000		48,017,079.60		
8:22:00	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1,000	200	200,000	7.8119	(1,562,380.00)	Client	Sell
8:22:00	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	200	200,000	7.8119	1,562,380.00	Member	Buy
9:57:27	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	1	1,000	7.8630	7,863.00	Client	Buy
9:57:27	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	1	1,000	7.8630	(7,863.00)	Member	Sell
11:38:47	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	200	200,000	7.8119	1,562,380.00	Client	Buy
11:38:47	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	200	200,000	7.8119	(1,562,380.00)	Member	Sell
11:41:54	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	200	200,000	7.8119	1,562,380.00	Member	Buy
1:41:54	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	200	200,000	7.8119	(1,562,380.00)	Member	Sell
2:26:05	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	5	5,000	7.8700	(39,350.00)	Client	Sell
2:26:05	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	5	5,000	7.8700	39,350.00	Member	Buy
2:48:36	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	1	1,000	7.8845	7,884.50	Client	Buy
2:48:36	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	1	1,000	7.8845	(7,884.50)	Member	Sell
3:51:06	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	100	100,000	7.9000	(790,000.00)	Member	Sell
3:52:04	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	50	50,000	7.9000	(395,000.00)	Member	Sell
13:56:19	AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1 1,000	150	150,000	7.9079	1,186,185.00	Client	Buy
13:56:19	AU\$ / R 19/12/2011	Foreign Exchange Future	1	0.00	1 1,000	150	150,000	7.9079	(1,186,185.00)	Member	Sell
Total Futures					8	832	832,000		6,520,922.50		
Total Opti	ons										
Total for AU\$ / R Foreign Exchange Future					8	832	832,000		6,520,922.50		
Total Futures				26	3	90,965	109,774,500		747,024,984.15		
Total Options				5		5,600	5,600,000	3			
Grand Total for all Instruments				26	8	96,565	115,374,500	4	,530,499,984.15		

Page 13 of 13 2011/09/20, 06:06:18PM